AITOK at the NTCIR-14 OpenLiveQ-2

Hirokl Tanioka
Tokushima University

G000 Mommg‘.

| am Hivoki Tanioka.

ottine Test online Test

| am here because | got a notice
from OpenLiveQ-2.

You can call me just “Hiroki”.

In the offline test, we continued to submit a
run a day from the end of August.

ID131 is overtaken by ID111.
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8/25 0.39724 45 1-gram TF-IDF with click through rate with cutoff 7
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9/4 0.49347 15view count sorted with click, updated, answers, order, rank and cutoff 33 %% % S8 % 3288 % § = = % =
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9/7 0.5 3view count + answers x 2-gram tf-idf weighted by query S23S3SS2ESLCEEEESEECEEEEREEEECEIEEESSZI ISR IE 2]
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u - @ V-Ga v-g a V-G m @ GM MQ‘ 9/10 0.50028 2view count + answers x snippet 2-gram tf-idf double-weighted by norm query -
d 9/11 0.49483 7view count + answers x snippet word2vec double-weighted by norm query
9/12 0.49427 9view count + answers x shippet word2vec double-weighted by norm query v2 000
9/13 0.49412 12view count + answers x snippet L1 word2vec double-weighted by norm query
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We won the first place in almost all scores.
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My blue bird, is hiding in the view count and TF-IDF :

, , , , Offline test results were incredibly good:
Views: the number of view, Page view of the question

ti Stat Updated ti . : . N = ' °
Questions atus | pdated time et oheIE ody B htshipal bt B TF-IDF guesses intention of users.
Query ID, rank of the Status of the question Last update time of the ; . .
question n search result, question VleW Count I’epl’esents repUtat|On.

title of question, snippet,

body of the question Besides,

Status: unconfirmed
Updated time: unconfirmed
Answers: a bit affected

Online test result were unexpected:
Clickthrough are effective for live users.

e iy G thonah . | Updated time are also effective.
Number of the answers for Page view of the question most frequent rank of the Clickth roug h: a bit affected
the question, body of the question, Clickthrough rate

best answer of the question
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